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Off &t 24

dEE
Off & 24

2o H

S

H AL

77,774,664
, 717,812
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10,000

10,000

24,000

24,000

24,000
24,000

24,000

5,000

5,000
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23
dS2etRa2 HAHHE 2E2
St E+=FHI

S E B (3H) - B A O Ak o8 ﬁlf& HD=2
CEXNEESINE S 2,015,000 2,000,000 15,000
403 XX S M S K201 A 2,015,000 2,000,000 15,000
01 HXHNMAHEBE = 2,015,000 2,000,000 15,000
OSXNE2SME %= 2,015,000
CTRNEH2IHMES(01Y) 6,540,785 6,540,785 0
= 5,031,373
& 1,509,412
403 XX S M S X201 A 6,540,785 6,540,785 0
= 5,031,373
& 1,509,412
01 AIXISHM A28 X 6,540,785 6,540,785 0
O XNE25ME 4 (0] 6,540,785
= 5,031,373
T 1,509,412
CANESSHMELEZH (0] 532,000 643,720 A 111,720
= 372,400
& 159,600
401 Al HIL 200 532,000 643,720 A 111,720
= 372,400
o= 159,600
1 A& I 528,200 639, 000 A 110,800
OSXNE23MELAA 528,200
= 369,740
& 158,460
03 A& 2 0HH| 3,800 4,720 N 920
O%Xl ol TH &2 ==& 3,800
= 2,660
= 1,140
st s E S 300,000 300,000 0]
403 XtXISHH S K201 300,000 300,000 0
01 AIXISHHMAE2E X 300,000 300,000 0
O3+ 300,000
SSHHM G X AIAE RS 2,098,183 1,395, 366 702,817
Dl 1,859, 150
= 239,033
308 AXISHXSO0IH 614,112 609, 768 4,344
J| 544,150
= 69,962
01 AXHNBMNEXTZ 614,112 609, 768 4,344
12 3HIH T S KT Al 614,112
Dl 544,150
o= 69,962
403 XX S M S X201 A 1,484,071 785,598 698,473
Jl 1,315,000




EXN: 23
My ME2sM0 HHX 2L
Ee: S ES=HH| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 169,071
01 XIS A 2E X 1,484,071 785,598 698,473
OS23 MG X AAE RS 1,484,071
J| 1,315,000
& 169,071
SXNEESTHMHEXAIAB = 300,000 300,000 0
403 AIXSHME X201 N 300,000 300,000 0
01 XS A2E X 300,000 300,000 0
OEXNE23HM UGS X AAE RS 300,000
CANELSEHMES(2IEHRLY) 800,000 700,000 100,000
403 XX SHHS K20 A 800,000 700,000 100,000
01 XIS A2 X 800,000 700,000 100,000
OHESHdES (D2 A I E ALY 800,000
SMESKHA 3,481,120 3,236,747 244 373
= 122,712
J| 1,749,498
& 1,608,910
2} MESKAFE 14,000 17,000 A 3,000
201 LBt 5,000 8,000 A 3,000
01 AP 22| d| 5,000 5,000 0
OBt =H| 5,000
OS2I MESKNIIFIAIRESRUUHIS 5,000
202 04| 9,000 9,000 0
01 2L I 9,000 9,000 0
O23MESXNI=EAHY| 9,000
S3MX20l &= XS 36,000 36,000 0
308 XMXISHMSO0I& 36,000 36,000 0]
01 IXHHNIMNEXS 36,000 36,000 0
O2sMXZ 0|2 =sHl XS 36,000
2 S MAa2e] 20,000 20,000 0
= 20,000
308 MXISHMSOIA 20,000 20,000 0
= 20,000
01 AIXSHMENEXZ 20,000 20,000 0
O=2KHar2el 20,000
= 20,000
ZSMESE 2 T2=E 1,385,408 1,431,826 N46,418
J| 1,154,498
= 230,910
308 XHXIEHSOIA 1,385,408 1,431,826 N46,418
J| 1,154,498




SA: 28D
HH: MERLMO MAHAE 2=z
Sel RSB EX (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
& 230,910
01 IXHHIMNEXZ 1,385,408 1,431,826 N46,418
[O23 HotM A H| ol & Bl X 1,385,408
Dl 1,154,498
= 230,910
OIENE MNS2IME DY 29 24,000 40,000 A 16,000
308 XX SHHSOIH 24,000 40,000 A 16,000
01 AXHNBMNEXZ 24,000 40,000 A 16,000
O0ESdESNENE 2SS 24,000
A=zt 380,000 510,000 130,000
307 QI2t0| & 380,000 410,000 A 30,000
02 QI2tA3 A X 230,000 410,000 A 180,000
OF3FINIASLAINMIH & ALY 80,000
OSIJIEEHE XA 150,000
05 QIZtR E 2 150,000 0 150,000
OF3SEI2& - A& Aol 150,000
St aAlI 222 S K& 850,000 935,764 N B5,764
Dl 595,000
T 255,000
307 BI2t0| & 850,000 935,764 A85,764
Jl 595,000
= 255,000
02 QI2tAAMNE X 850,000 935,764 N B5,764
O3 M==AY 850,000
Dl 595,000
= 255,000
S22 SL2RI 21Ad| 18,712 26,157 NT,445
= 18,712
308 XX SHHSOIA 18,712 26,157 AT, 445
= 18,712
01 AIXHMBAAEXZ 18,712 26,157 AT ,445
OS2 SLd2 LRI 18,712
= 18,712
S MAaA 2SS (ZXH) 360,000 220,000 140,000
307 QI2t0| & 240,000 100,000 140,000
02 A2t AMNE X 240,000 100,000 140,000
CXNEES3MAAZCIEZ2SXE 180,000
OHIXAES - DEHAAI 22| KT & 60,000
308 XX SHHSOIH 120,000 120,000 0
01 AXHNBIMNEXZ 120,000 120,000 0
OCSXEZSHEE 22 H X & 120,000




M 23
A NS2IRAM WA B&E2e
gel: SRMESXE (chel & 9l)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
A ZSHTH A 84,000 0 84,000
= 84,000
308 XX EHHSOIA 84,000 0 84,000
= 84,000
01 HIXNHHBNEES 84,000 0 84,000
O3 MALS 84,000
= 84,000
dHJIgEE2sS A 309,000 0 309,000
308 XtXIEHH SOl A 309,000 0 309,000
01 IXNHHBANEES 309,000 0 309,000
OFGIIESHENSSEAIALA2EXNE 309,000
SEESMAA 871,400 1,493,000 A 621,600
= 268,000
< 603,400
PHISMANNAF=E 26,000 16,000 10,000
201 Let24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
Ogst=2Hl 5,000
OFE2FMAIAFIAMNSESHIS 5,000
202 oddl 21,000 11,000 10,000
01 SLHOYI 21,000 11,000 10,000
DRSS MAEA =N 21,000
FERIMES X 479,000 472,000 7,000
308 XXl EHH SOl A 479,000 472,000 7,000
01 HXNHHBHELS 479,000 472,000 7,000
OREEMIBHAMK 90,000
OfRERIMERUSKE 326,000
OfREEIMERSHIR 48,000
OS XA =0l S0 AHHI X & 15,000
= ST OHLH = X 2t & X 18,000 20,000 A 2,000
403 MtXISHH S A0l & 18,000 20,000 A2,000
01 XS M A=2EE 18,000 20,000 A 2,000
OS2 HEX A 18,000
SERMEUS2AE 338,000 910,000 A 572,000
= 260,000
< 78,000
403 XM S =0l A 338,000 910,000 A 572,000
= 260,000
= 78,000
01 X EHHMA=LE L 338,000 910,000 A 572,000




EXN: 23
MM MER2FAS MHHE B&2e
&?e?: RFEEIMXA (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
ORI MEsNS2AHE 338,000
= 260,000
= 78,000
LSS ML= ST 10,400 0 10,400
= 8,000
= 2,400
308 MXISHMSOIA 10,400 0 10,400
= 8,000
= 2,400
01 IXHHIMNEEXTZ 10,400 0 10,400
ORI MELZ2ESHTAIE 10,400
= 8,000
= 2,400
S MAEHI L AR 2L 17,988,106 19,103,920 N1,115,814
= 7,756,000
2 1,530,000
= 8,702,106
S MAEHBILAR 2L F A 40,249 38,249 2,000
101 Q121 H| 13,249 13,249 0
04 JI2ZtHIZ22NEES 13,249 13,249 0
23 H & 2|l el 13,249
201 2Et24Hy| 15,000 15,000 0
01 AP 22| d| 15,000 15,000 0
Ogst=2H| 15,000
OS2 MANHHILAR AL FTIAREEL S 15,000
202 o4 | 12,000 10,000 2,000
01 2L Hl 12,000 10,000 2,000
OS2 A EHBLA R 22| FE 0 HI 12,000
S MEAILA]3&H 100,000 82,000 18,000
201 et 100,000 82,000 18,000
01 AP 22| d| 92,000 82,000 10,000
Osgx¢ 92,000
O MAXSSHLHUXAIHIS 92,000
03 Al AH Y| 8,000 0 8,000
OS2 MAE/A=S 8,000
CANEH2IMFTHSAHASG IIAH I IIE O 1,372,000 150,000 1,222,000
308 XX SHAHSOIH 1,372,000 150,000 1,222,000
01 IXHHIMNEEXTZ 1,372,000 150,000 1,222,000
OEXNE23MFHSEMNHAAS MM =0 1,372,000
S MAERAXNESS 100,000 100,000 0
201 gBt24y| 100,000 100,000 0
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4,620,000
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2AMd: 23Dt
A NS2IRAM WA B&E2e
Sl RAMAZHIL AR CERED
= — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZ=2RrM4EE 220,000
O=2AL2MEBFMAII 2T HAME - A 50,000
307 glz2tol & 750,000 830,000 A 80,000
02 RIZHE A E X 750,000 830,000 A 80,000
OIS It At 3AHEE 500,000
O=22AAL M2 MAEINAEHZAXA 70,000
O2AL M2 MAEINAS XA 150,000
O2ALMES AT AL =2,01=)Z 2U0BF
SAY 30,000
403 MRS E X201 & 3,600,000 0 3,600,000
01 XS M A=2EE 3,600,000 0 3,600,000
DAt MES A2 AE 3,000,000
OstsIg9A|ga2He 600,000
M g2 =2e 9,256,857 11,572,371 ~2,315,514
= 7,756,000
= 1,500,857
308 XXM S0 A 1,479,400 0 1,479,400
= 1,138,000
= 341,400
01 IXNHHBNEES 1,479,400 0 1,479,400
ONAssassI= A 1,479,400
= 1,138,000
< 341,400
403 MRS E X201 & 7,777,457 11,572,371 A3,794,914
= 6,618,000
< 1,159,457
01 X SHH A2 XL 7,777,457 11,572,371 A3,794,914
OMAs&EE2e] 7,777,457
= 6,618,000
< 1,159,457
g2 IE 100,000 0 100,000
403 HXSHHSA=0l& 100,000 0 100,000
01 XM A= XL 100,000 0 100,000
OXE DS AA2AE A A A I 100,000
Fot2 BTN 256,000 376,000 A 120,000
SIHRMEEANY 100,000 200,000 100,000
307 glz2tol & 100,000 200,000 A 100,000
02 RIZHE A E X 100,000 200,000 A 100,000
ORYES M==AY 100,000
EoRazsg A 156,000 176,000 220,000
308 XXM SOIA 156,000 176,000 220,000




EXN: 23
MM MER2FAS MHHE B&2e
Ce: S22 AR ope (2 &HH)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
01 IXHHNIMNEXS 156,000 176,000 A 20,000
OMSoZs0SsNgeegszz )™ 30,000
[OAM& - & 1Stay 60,000
D&M FALdSA 30,000
OS3RMAXNLHAIETZ)HSH 36,000
AANESIF AT 4,507,000 6,382,000 A 1,875,000
2 3,800,000
= 707,000
SUEIIHIMEAHFX 30,000 15,000 15,000
307 2Iz2t0| & 30,000 0 30,000
02 QI2tA3 A X 30,000 0 30,000
SN2 3ha 22Ol 2 A BH A gk 2t 30,000
AFAANSIIAIETS 4,477,000 6,367,000 A 1,890,000
2 3,800,000
& 677,000
308 XHXIGH SO0l & 650,000 0 650,000
2 500,000
&< 150,000
01 AIKSHHENEXZ 650,000 0 650,000
OBFAARSEAES 650,000
2 500,000
= 150,000
403 XX SHHMS K201 & 3,827,000 6,367,000 A 2,540,000
2 3,300,000
=} 527,000
01 XS A2E X 3,827,000 6,367,000 A 2,540,000
OFFSAMNESICANXS 3,827,000
2 3,300,000
= 527,000
HES2AAH (23 41,600 38,800 2,800
JlE&dl 41,600 38,800 2,800
Jl2 &4l 41,600 38,800 2,800
201 et | 27,800 25,800 2,000
01 AP 2t 2| bl 27,800 25,800 2,000
Ogsr=2H| 17,000
OJIs2ANeESS 17,000
O3] 10,800
OS2 MHAE S 28 Z A 10,800
202 044 13,800 13,000 800
01 2L Y| 13,800 13,000 800
23 HAIE S 2F=X O Y 13,800




